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x+y-z=1
49. AT 2 +y2-2=25 A T=
x4y -3 =109
x=a,y=Bz=y & |al+ 8+ I FH?

@ 5 @7 @9 @ 11 ® 13
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x+y-z=1.--@
2+y?-22=25---Q@
B+y-22=109---O

Do z=x+y-1---@

@ E @, @ o Hdsto] 2 AHestd
x+y—xy=13,
xy(x+y) = (x+3)2+ (x+y
xty=u xy=v2FOH Y2 A7}
u-v=13.--®
w-u>+u+36=0---©
®,E®SdHsHu=3, v=-10
Lx+y=3, xy=-10, z=2
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50. Ny, Na, N3, -+, Ng= B5F ZAFO]I N, < Ny < -+ < Ng,
N1+ Ny + N3 + -+ Ng = 80°]2} & o, Ng o] 2HZ2? (H,
Ny = 4)

@ 29 @ 30 @31 @ 32 ® 33

B ~

Ni <Ny <N3<---<NgOlEZ Ny=N; +1, Ng=No+1=
Ni+2 -, N =Nsg+1=N; + 6%, Ng-= Fzto] Hr}.
SN+ N+ 1)+ (N1 +2)+---+ (N1 +6) +Ns =80
TNi+(1+2+---46)+Ng =80

28 + 21+ Ng =80

o Ng=80-49 =31




